NO:

o / vee Hols |

DATE:

Holiday Acsignment

TWe 2  eg S5

Ternn 3 Test g,

-

%S
SRR 5*“/}

1la b et _ 1, : i
ta) - ..3&?‘5‘; -_‘ . _2—1:!‘ L | 3 Qa') P = 'qﬁ":s
- .anaﬁ’b‘t-;' 2 -—
__ Wicf X &t Py-sp 7 q v
R aip ; —
- e B ) N B ~ * P9 = r vsp
e — e ~ ) |' g‘,’(' T R se
£ 3% b a3 U % -l + _! risp -
o’ 02 N A P
tax ¢+ &1 - ff-}L.—ll-t)_zg
. oz
_ 93 46 ~6x + 3y ~ 29 - ¥ <o
- Ry _ ) ted g = -7
- Fxi-2 ] Y
1 - T 3y —1
; 7 & L-23 —
- i = t
! S
9 Letdne wst price Gkt vook vt | -~ 8-z
- tT i J S
TPeofit et i f = ¢
- R _‘ —
frefie Nw.ﬁ- o oo = oo KX
H. (&) Labbly — 549>

Lot made on etwer poep = d > f(33-x) = Ltate) & 3 ¢] (ta-w)-TFc]
RO, 0 s (edkb bR takb -F)
js"x."_"‘?-‘-33—13' = {30 .- i "
'2.9’(- ERE R §-2572 YU1-2¢, : () ml -2 - nL L 2wAnm
L by 't—(—".-f'”‘-f-)"). = .'.&-oo x = tis I W AL R T T W S e P
tH42t-4o0 - © ;"-f"‘“’""w "k':-is:-fk T Lmev Mok and .
Lt-;ojtt_g)LO(TNGO"EUJ"M&«:;I“A; -
. L t+50 ) = o o - (T':ﬂ?)_-:_d\.\l"%“-"wzi ey b3 "-1::3 - 34 =
| + = -se + = s"u.ﬁl > 3ty Yx=3vy) _
TCaM‘-‘r be nc_jaeuc,‘-ﬁ . 9 Jax
J- Speed ad Tyme £raiAn 18 | _ 7 \/ ’ ‘j
= (& 4 a3 I s ) 1)(//\-;»1 G
= (8 A ur Yk /L, 6}(” -?\j: :-;xj
- .'50 Cun [[,L_/'{ i .
_ —_— Jl_ -
: S r _

*anlhue



NO: DATE:
5 ltay (3x+r\) T s (yaud?
. 3 AxTRex KA T XHAx rie
. ’ B .
\q ‘3){“’-— 2x — 16 = o .
-3 cuxks) 2 o,
S2x - o3 oL 41 = -5
ERF <k - o B
x < =L
_ lj-,// lq‘f/ _
7 o Loy — - —
(b). .y + 3=
Y >4 34 = 10
‘324‘ 3y-10 = O,
{4-23(yYas)= 0 ‘
St a or s ~S
-] tad. Wo. o4 light budbg produccal
109 '
- - _‘016 ¥ 33
- 3s0 ‘
. -
o
N .
o “’JQ?"F:\ st vice ¥ 12k, sugar =T1%.320
"5!"-3 od ice + Sh‘l fMya,- T #20.40 -
B From@: 3stu-- R .. bokq-Q - 8 b.50.
o Prom &) 180k R, 4+ 60kq S R ELTE
- (139 -35)3kq & T~ ¥34f-49¢.90p .
e oy 2 -~ 1169.5D
{ kg 3 = J1.10 .
o Sty S c $20.50 ~ (¥ §1D)
- ¥4,
BN leg = fo.40
o s L 3 kny S = (K {1y ( I XI0. 2W)
— ~ di.ge0
- fl/
I — T % -1 SCAS 1 Nl
———___.:}_'_ (e 3 “4, (o) T ixaz2y — -2,
. - ~ 3 — (5 X -2 —~ 2w -
— - i2 . . - Jl_k+q, {X.ﬂ-l)
. 5% -~ 19 _ - x - ¢ . -
L ~ T2 // - T opdxF 2 3LYY, 4y
- £ A S
———




T T ——— e T y— Q
DATE:
2 (n) buw - - | . . -
Q-4 = x [0 qad- ). 25 2
. B Cb-ad =x | G- o
? = b—'ﬁ.!t :
!!.
(b)Y lengtn ot vdad on mMap.
b ,.e x> '1_—?'.— 1 '
f_ ) - l+2’3‘ = ag0oben X 3lkwm
N - _
© +‘tax‘3:_: VJFX‘- - L2 (A
X
A o Bl T
! iy~ x -2
Bl tlx -y T x -t ! L\ Mctual afta ok focese,
.- x___.'t" 250 600" ) N T
A T =z —= X Soum®.
_ »x et -
. 9 - T-t°X —~  Bz.s¥m™
77 S
(er) (x ~4)% = g, If

a X .
X" -gx 4 b o B

o gx -b% =4

X133 Exdsy =5

(o). (3¢ =ad > = S C3x ~yy

- 24y F16 = 15 -0

@

y? -Mx ¥34= ©

3x-& Y345y = 0

3x = 9+ ox = 4
- - B ’ -
X~ - | =
3. X s |3 L
Ifd 77 ! _
T I
te) ""(sx_ -1 ) = 5("!): ‘z}
L _ 3 '
3x ~H = -6
L2 3
Er b4 -
a, - "_
ay - 2 o
. _
= = - 2
X = —-—'2:‘ -




